Logaritmi
1.  Pārveido par logaritmu!
53   125
72   49
0,52   0,25
2.Aprēķini!
2log2 5  
9log3 7  
11log1 1 21  
log 6 1  log 6 1  24 4

lg 3000  lg 30  lg 0,3  lg 0.03 
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log 2 7  log 2 74  lg 13  lg 103 
	log 1
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3.Vienkāršo un aprēķini!
log 3 12  2 log 3 2 
2 log 2 7  3log 2 14  0,5log 2 24,5 
	3log 3 5  2 log 3 15  log 3
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	4.Aprēķini!
	
	
	
	
	

	log 2 75 =   , ja
	
	log 2 5 =a   un   log 2 3  b
	


5. Atrisini log vienādojumu un nevienādības!
log 3 x2   6x 3
lgx  2 lg 5  lgx  6 log 2 3 x  6 log 3 x  9  0
	log3
	x  5  log3 7
	

	log 1
	5x  9  log 1
	4x
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	x  log3 72  log3 8




log3 5  log3 x  log3 10 lg16  lg2x  2
log32 x  log3 x  2  0
log5 x  3  2 log 1 x 1 2

3
log 1 x 1 log 1 x 1 3
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